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ENEE 610 F20
Homework #8  Due Tu 11/03/20 
1. A Richards’ section is loaded with a parallel LC circuit with inductance Lo and capacitance Co.


a) Find the input admittance y(s) in terms of g, C, Lo & Co

b) Give its poles and zeros


c) Compare these results with what is known about the Even part of a lossless admittance. 

2. For the op-amp Schmitt trigger hysteresis of class with g=Rf/Ri and op-amp bias large enough with Vdd>0 and -Vdd 

a) Give the hysteresis width in terms of g and Vdd.

b) If loaded by a capacitor determine the unit step response (with 0 initial conditions on C)
3.  The following circuit can be used as a curve tracer

a) Implement it in Spice or any circuit analysis program.


b) test it on 



b1)  100 Ohm and 10K Ohm resistors


b2) 1N4001  pn diode  (under PSpice D1N4001)


b3) a light emitting diode, D1N5765
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